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What is the 
missing number?

What is the 
missing number?

What is the 
missing number?

What numbers are 
missing in this sequence?

What fraction of this shape 
is shaded?

What is the inverse division 
for this calculation?

Which symbol makes 
this statement true?

What digits could go in each 
box to make the sum correct?
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Treat: 

+ 10 points

Trick: 

− 10 points

Treat: 
+ 5 points

Trick:

− 6 points

Treat:

+ 7 points

Trick:

− 8 points

Treat:

+ 4 points

Trick:

− 9 points

Treat:

+ 9 points


